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To which part the vacuum wunit connection of Distributor is
connected?
gevfly L fer Causyyb wal’ @aerriiy ahs UTaSgIL e Genem bl (e @0

(A) Air cleanerf (pf Carburettor
g Seflen amryCrLLy

(C) Inlet manifold (D) Exhaust manifold
@er-Qel GweflGumer_{H er&av-apev([ GweflGurd.(

(E) Answer not known
sl Cgfweidene

The Number of winding in the stator of an alternator is
< dLiCar Lfld avCLiLmt eneuuleimg s crekrentsens

A 1 (B) 2

g_(]_ 3 . (D) 4

(E) Answer not known
aflenL Qzflwellcrens
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3.  Which type of wipers are used for Heavy motor (Diesel Troks)
vehicles?
s aursasdled abs auans eveuliuiser LwaTUhFGSLIUOEDE ?
(A) Electrical operated wiper
aQsigflssday @uEsLUBL eeulium
(B) Vacuum operated wiper
QeupPlLS5med @uISHILED @peuliLiT
(C) Hydraulically operated wiper
Fraussnd @usstiLEIL eIt
d Compressed air operated wiper-
(PHSS STHPTL @wssUILIHb @euliur

(E) Answer not known
aleL Asflwaiidena

4.  Contact breaker points are opened by the cam and closed by the
sramLnsl AGrssr umdear’ Gsuflamd FpssiuGdng oopmd esarmed

gpLtiubEng)
M Same cam (B) Centrifugal force
- 2Gg Gab ' C Gsar fluygsse Gumiey
(C) Magnetic force (D) Spring tension
Cusenigds Gumieiv LN AR AT 2

(E) Answer not known
allenL Gzlweiidens
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What 1s the working principle of alternator?

THE igriuan hgeusdled oL rCar it Geuma Qaidlng ?

(A) Ohms law (B) Law of Resistance

guler efild senL el

( Electro Magnetic Induction (D) Lenz’s law
OHETHS ST Qeveirev ol

(E) Answer not known
efleni- Qsflweldeana

Most suitable device for anti theft system is
ey -Qgalil fev SHmeE Wsa b QUTEHSHLTET FISETD

(A) motor (B) solenoid
G m Qemellarmip
(©) cylinder.  @ffsiven lamp
T el : | ENETET QIMDLI

(E) Answer not known
fenL Gsflweldeana

The number of diodes used in an Alternator are
oL Gart féd vwerumib e Curhseien eramemflsms

(A 10 (B) 5

Q) 7 - - Gfs

(E) Answer not known
ellen Qgflweldena
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8.  An alternator frame 1s made of
S @LTCarC L YCrb ang Bsammed HyansmELh

(A) Castiron (Bf Aluminium
Caavl e S bleflub

(C) Copper (D) Brass
&TLILIT Sgmrev

(E) Answer not known
aflenL. Qzflweldenc

9.  Distributor cap is made of
g GURILL LT eply @ISETEd Dpeug)

y Back Lite (B) Fibre
Cugenaol oG LILIIT

(C) Plastic | (D) PV.C
Germeuig & 9.e0. 8

(E) Answer not known
sflen Qgflweidwena

10. While fitting battery observe correct
Wenawsens Qurmsgin Curg sfiluns o drarsr e seuallEaliuL. Cou g Ligy

( Polarity
Curefiiig

(B) Mounting
LDG)| &80T L MBS

(C) Distilled water
lg-6Ig 60 UL _IT

(D) Nothing
Brggie

(E) Answer not known
allenL. Qzflwellcvena
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11. Current will flow through a diode, when it is connected
e o Gur® afurs Wb Gede Geoamgw Heeuld g

@ enam U Ig (HULIG

M In forward bias (B) In reversed bias
LITFGUT(R oalllienled feurev(® coLiwiedled

(C) To any suitable battery (D) Suitable earth
gflwmenr GuirLMulle gilurer erigde

(E) Answer not known
- dlen Qgflweiidenso

12. The rotor arm of coil ignition system fitted to a four cylinder engine
is drive at
gevig M@y L sewiy GQsrare. CuiLf srlbe @saifluar  Hevlid
@enslatier CrmiLir gib sHpLU@GESDaE
(A) twice engine speed _
@enghlaflen @)m wLkE Coussld
(B) engine equal speed
Geangdaflen g Causgdled

V half engine speed
Qengdlefier urdwere] GoussHa

(D) gquarter engine speed
Qengdafler ard LuEdH Coussdo

(E) Answer not known
clenL Qgilweilcwensy
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13. Which is the most commonly used wiper in all motor vehicles?
Qurgiurs mersgy GurlLmT cursahseiigbd 6hg 6Hgwrear eneuliu

uweTUGSsLUuGEDE ?

I
®

(©

(D)

(E)

Electrically operated wipers
Wenemrssmed @ussln@n eelliLfr
Hydraulically operated wipers
Areugsned @uEsSIUEL el
Vacuum operated wipers

QeupMiL gamedr QuissuED eneuliuiT
Compressed air operated wipers
(PHSE STHPTL MUSSILIHD eneulIuf
Answer not known

aflen GQgflweildanc

14. The hall-effect distributor has shutters that move between the
amre) ereebusl geve Moy L fMéd o drar sa@sedr pamaug @eaupdhdlea Gu
58T\ 60T DT

(A4)

(B)
o
(D)

(E)

contact points

anaprrsC. umuller{Hser

sensor coils
QEenarT sTude

two poles of the magnetic sensor
Cusangs Qeergmilar @m SimeumsErsda G

terminals of the distributor cap
igeuflagpl L ep g uligueter (penanaenadlent Gl

Answer not known
afer Qgflweiidenaw
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15. How many cells are in the 12 V Battery?
12 V GurLAlé arsgamen Cewsadr o drarer ?

(A) 2 cells a( 6 cells

2 QFLsET 6 QFwaer
(C) 9ecells (D) 12 cells

9 GlFoaer 12 Qgevaer

(E) Answer not known
- eflent Qg flweidena

16. Battery while charging electrical energy convert to which energy?
CGuifeow WOéaGappd Gsiyd Curgy Oeremmhpd  ahbs  HOOTS

wrmdmg) ?

(A) Mechanical energy M Chemical energy
Qupdly Hpd | Geugl 24pwed

(C) Heat energy " (D) Sound energy
Qeuiu <HHed a8l O

(E) Answer not known
elen Qgflweiidena
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17. Which device inflate the air bag in few milli seconds during vehicle
collision?
aursaib elusgeararm@gwGurng obs enseand fa a6l Qpmysefld i Cus-g
sl feuenw Gewdmg ?

(A) Seat belt pre tensioners
& Qul ufl QLengariser
(B) Steering lock
avig Mk eoré
(C) GPS tracker
GPS gyrési
) @ Inflator module

@emiGar L wr@e

(E) Answer not known
v Qsflwelidensy

18. Which Acid used in Automobile lead acid battery is?
< GLr@Quwrenualé vwearu@gsuubn Gl Al Guiefl o dl oypeang

(A) Hydrochloric acid (B) Hydrofluoric acid
aapl Crm @&Garmils olab aant Gyr S 9Carmflé e
(C) Dilute nitric acid | (y Dilute sulphuric acid
Bigs enplfs sibleow 5168 6555 SiBlabd

(E) Answer not known
aflen @gflweiidveney |
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19.

20.

The capacity of the condensers used in the Automobiles ranges
Generally between
< CLrnQureudseaid® uvwaLBssiuupl s drgisefear  CQurgeuren
Qs meTaTenay
(A) 0.10 to 0.15 micro farads

0.10 apsed 0.15 arwsGyr Gui_ev

0.20 to 0.25 micro farads

0.20 @wpser 0.25 awsCrr Guylav

(C) 0.30 to 0.40 micro farads

0.30 apsed 0.40 er&Gyr Curlav
(D) 0.40 to 0.50 micro farads

0.40 wsa 0.50 erw&Gyr Gup_e

(E) Answer not known
cllent. Agilwellcvrena

The type of wiper unit used in present day cars
SHET &MT-& LWeTURSSIUBLD epeuulm welll. eThg cuesa sMThsg ?

(A) Mechanical (B) Vacuum
Guésrailssd ~ Qeusad |

(C) Hydraulics @rElectrical type
wanL_yredls erusl & euens

(E) Answer not known
allen. Qsfluaiidea
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21. The PCV valve is located between the
PCV aumévey ————— @lan G sivopgyemeng 2
(A) air cleaner and the carburettor
gii Safert whpb smryGriim
(B) carburettor and the intake manifold
amyGrlii wpmb @earGLs GuallGumdr
(C) intake manifold and air cleaner
@anGLs CuallGural whmib e Hefart
, d intake manifold and crank case
@anGLs CoalCGurdlr. wHmb Syrh Cae

(E) Answer riot known
e Qs fluslicrenay

22. Which is used to control the evaporation emission of the Fuel Tank?
arflQungper - CLufléd @mhs <wellurdl QaelCupeams sLEUUOSS g
vweruh Smg ?

y Carbon canister
griruet GaafleuiT

(B) Catalytic converter
Gal el g5 senGoumir
(C) Selective controlled reduction
Geasiyn sarl Crra® s
(D) Positive crankcase ventilation

urligeu SlgraGaey Gleudty Gager

(E) Answer not known
sllen Qagflweldene
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23.

24.

ULSD - is Diesel with these removed
ULSD ereiiugy @eveu S&s0ULL ea@m@Ld

(A) Lead (B) HC
&L o1& &

(C) Sodium Sulphur
Gamguid y Four

(F) Answer not known

allenL Gz flwalcvency

What is the expansion of ‘EMC’ system?
EMC system -gdlar efiflaunéaid eremen?

(A) Emission Module System
eriflage wr@d FevL b

(B) Emission Middle System -
ariflager Wliged fevLLd

0 Emission Maintenance System
eTflager Gl arey Sl Lb

(D) Emission Major System
eridlager GogmiT fAevLib

(E) Answer not known
eflenL Qgflweidens
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25. Which type of Engine uses SCR for Emission Control?
abs cuame @ensdafle erflayen sanl Corgusars SCR vwau@ssuiLGApg 2

(A) Petrol Engine Diesel Engine
QuCGrmér @)ergd] e le e {@)emedlen

(C) LPG Engine (D) CNG Engine
LPG @ensien CNG @englan

(E) Answer not known
ellenL Agflweldena

26. The proposed date of implementation of Bharat Stage-V throughout

nation is

LTS Giu@L_g—V BTHGET (P(PeUFID ——— BIET (PG BenperDULIHiSSILIL
o _eTerg)

A 01.04.2020 _ (B) 01.04.2021

(C) 01.04.2022 (D) 01.04.2023

(E) Answer not known
cflen. GAgflweldeame

27. The device used to reduce the Exhaust noise is known as
QeuellGumib  eumwyalledr sUFHMS G@DES LWTLRDL 2 USTRID 6TF orer

NS
(A) ‘Exhaust manifold (B) Exhaust pipe
ersevmev(p weaflGumal @ er&eume(h e
(C) Tail pipe .(y Muffler
Lmrel eIl : OLIGITIT

(E) Answer not known
cflen_ Qg flwefdwane
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28. What is the acronym for EGR in emission control system?
enflegen sa Grrd AevLgHer EGR eramm gafligsall apsgisaiian elerssnd

GTEHTET 7

(A) engine gas recirculation y exhaust gas recirculation
Qensdler Gaev Farglasan ergeuravl. Gaev FemgGeaear

(C) exhaust gas regulator (D) emission gas recirculation
arsenmevl Gaev Ar@Galii erllagern Coev Fei@Caaer

(E) Answer not known
eflen Agfluefdenen

29. When does a Fresh charge escape from the petrol engine exhaust?
eiCurg Qui Grréy @ensdlen erflaweney Fresh charge ergevmev Hiesr

QeueiCuimdlmg

(A) During Valve Lead (B) During Valve Open
auréey SE sowsHd : aumeey U soWSSHED

(C) During Valve Leg ‘y During Valve Over Lap
eurévey Gevd FOWISEH D euradvey gpeut Gals FwGHed

(E) Answer not known
el Qsfweidama

30. Which types of vehicle emission is measured in “g/kWh”?
aps oues arser aflasamearg “g/kWh” Weme sereluuuGdps »

(A) two wheeler vehicle (B) three wheeler vehicle
® eieit I M e wi Hbd

(C) light motor vehicle : y heavy motor vehicle
@Go@ TS GUTHELD SSNS CUNSESTLD

(E) Answer not known
cflerL Qgflwaelebenew
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31. Electrical shock absorber which car used?
ahg srile erGastfsd egrssisiur vwaGssubhdng ?

(A) Ambassador Car

U Tel T &I
(9! Audi Car
Sl ST

(E) Answer not known
clenL. Gsflueiidena

(B) Maruti 800 Car
wrmS 800 &I

(D) None of all above

CuGe 2 drer ergeyd @dane

32. Which solution used for checking of unloader value?
ienCam_ir euréenay LNGETH ILEHETS eThs Qemadoyenent DWISTURSSIaUML 2

Soap solution
Gemuiy Cgmed apesr

(C) Paste

Ueh&

(E) Answer not known
eflenL Gsfwalcena

(B) Wax
doyes

{D) None of the above

Cupsam.. emarggih Gdeme

33. The part which permits variation in the distance between the spring
eyes of a leaf spring as the spring flexes is called
WU cudfim-er e Qfm - “@” H@HEG Qe Cu oevar fer WIHDSNS

@[@;uu)ﬁa':@m eI Qpé@m L&D

(A) U-bolt
U-Gurér

(C) Leaf
U

(E) Answer not known
eflen Agfweildena

437-Mechanic Motor Vehicle 16
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y Shackle

Casdler

(D) Bush
L6y



34. The Brake bleeding process removes ——————— from the Hydraulic
brake system.
analq Jralld 19CTs fevLgHd eTang Heligm Qi Ceuar{ib

35.

4

©)

()

Air (B) Vacuum

SmhHm QeupdlLb

Excess Fluid (D) Excess Pressure
iflswren ,uled 285 erellaTran Bi(PSSLD

Answer not known
allenL Qgiflweiicbeney

What is the function of Traction Control System?
g yréeen el Grrd e b-er Geuaney erebre ?

W Prevent wheel spinning

(B)

(&)

(D)

(E)

& dvlQarafiih s sHEHDS

Release the pressure tol expansion tank -
a&evCuenaar CLEIG-aT S(psssams lheisES g
Reduce the engine torque

Eeglletr LTé-2 Gann&Eslng

Reduce stéering effort
eviqwfi eleperencu @Gep&dlpg)

Answer not known
eflenL Gsflwciidens -
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36. Which type of Brake System save the vehicle from skidding?
g auans 9GS fevLib eungenb smis@Geudldr @(mbg UngsTEEDg) ?

(A) Hydraulic brake (B) Fail safe brake
anan_yredls ACrs Quullér G 9Grs
d ABS brake | (D) Air brake
ABS QG5 g GCrs

(E) Answer not known
ellenL Qzmlwaeilcoans

. 37. Which vehicle used for Electronic adjustable — rate shock absorber?
abs eunsesdd eraslgrafls — Grl egrésliigmiug LwaruGsstiuBmng ?

Qy Benze Car (B) Ambassador Car
@uenevy &mir Siumedlit &mi

(C) Maruti 800 . (D) Alto K 10 Car
g 800 | <@CLr K 10 smi

(E) Answer not known
alenL Qzflwaldens

38. The brake shoe and linings are connected by
GCrs ageaneuw b eravafibiansub ereueurm @enamssliLL_(ReTerg ?

(A) Binding material y Riviting
T evuedTigi Gl gl Mo g s
(C) Bolt and Nut (D) Screw method
Gumebl e BL au@ @ GwssH

(E) Answer not known
eflen GQgfweideame
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39.

40.

41.

Practically brake efficiency is

Qeiipann Narelle) Gy SHper ereusuarey B)H&ELD 2

(A) 100%
(C) 60%
(E) Answer not known

edenL Gsflweiidena

g/ 80%

(D) 40%

Which component is help to operating the brake shoe cam shaft in

the air brake system?

g 9Crs fev sHd s siganoreng 9ICrs ebellpsrar Gsb eymiem

QusESng ?
Brake booster
9Cys yevL i
(C) Spring brake actuator

avlilfi ICHE g &aGeul

Answer not known
cflen GAgflweidena

(E)

(B) Slack adjuster

Heors oL geivL It

(D) Flick valve
sold I_CI] @Slé; @l IT'GUQ.I

In the Suspension System Leaf Spring one hole is fitted to vehicle
from shock and another eye hole fitted to

sevGuenger fevLsHed o drer a1 euliifli 2 dren e ‘@’ Canmd eunsar LMy
Grble ausdaud whHpmm ‘@’ Camd ersept e GamammdsliLL g (HéELWD

(A) Dbed
Qui
(C) ‘U clamp
' ‘U’ Hemmbry
(E) Answer not known

allenL Qzflwefdenc

19

,(B{ purch

(Wp-2:
(D) none of the above
Cula o dTem ergieyld dlenLwing
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42. How many piston having in the wedge type brake adjuster?
Qaul gy euens 9CT6 =y gevMeh erdsenan NevL_aEeT 2 6rerar ?

(A) One Two
e @ren(
(C) Three (D) Four
Qe BTen (s

(E) -~ Answer not known
aleL Qgflwelidoena

43. Commonly, the re-generating brakes are provided in

Qurgieurs f-QmearGrigh 9CréE siemwiuy GurmsSulmriug
(A) Petrol engine prime mover system

QurGrmed ergpgllem Wenqbd epeui Heviid

- (B) Diesel engine prime mover system
- le&e argpedlesr (Aengid ppeur Fleu b

(C) Gas engine prime mover system

Caev ergpgllenm Genrib epeurr Slevi b
M Electric motor prime mover system

aCGalf& Cumlirt Qengd epeui HevLLb

(E) Answer not known
eflenL Qgfweidrene

44. How many air tanks are used in dual air brake systém?
Qwe gt QCr& Havgdlar arggamar i CLMEGS uwaTLhSsULGS DG ?

(4) One (B) Two
B | - RALEO

f Three (D) Four
e

prren(
(E) Answer not known '
aflenL Qgfwelidane
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45. The pipe line pressure of in hydraulic brake system is approximately
aan_greds 9G4 Heavgler epuls encvertlian FagiT eTeucuaTa?

(B) 15to 17 lbs

46.

47.

W 5to 7 lbs

©

(E)

5 wpge 7 lbs

25 to 37 1bs
25 apsé 37 lbs

Answer not known
e Gzfweildeaa

15 apsed 17 lbs

(D) 35 to 47 Ibs

35 wpad 47 lbs

The disc is attached to the which. component in the disc brake
system?
geivd GCrEHo yeavsanang QummEsIILIHeg @S6T aThs LTGSSILET?

(B) Caliper

A)

Piston
(YleinL_abr

((y Wheel hui)

(E)

e i

Answer not known
eflenL Qgflueidene

SredlUILm

(D) Steering Knuckle

cogufi médle

In the Fail Safe air brake system spring brake actuator are used

(E)

GLg uss GCTSE

Answer not known
aflen Qg fMweldana

21

for the
Quie Gt gir 19CrE fev Ao evlfiim GACrs pssCaur i ———— @
vweTuRESLILRE DS
(A) Front brake (B) Right hand side brake
e UGrs cueg uss VGTE
(C) Left hand side brake Mear brake

Qe s GGCTE

437-Mechanic Motor Vehicle
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48. In the gas filled shock absorber use of special gas is
Gaev SHlbd® srdaglismTul cuamassaller LwaLRSSLILEL AU 6uTujeuTeTs;

(A) Oxygen (y Nitrogen
< &ellgenr anBL_ TR 6

(C) Sodium (D) Helium
Camgwitb efeSlwith

(E) Answer not known
aflenL Ggflweldena

49. The bellows are used in which type of suspension system?
b5 euens Fev@uarager Al sHed QuaCare eimliy LLETLHHDE ?

(A) Conventional suspension system
semlleueanesr FeLdUETF6 SenLOLILY
(B). Independent suspension system.
@ esmg QueTat savueTaeT Sy
M Air suspension system
g gevblueiayes enwliLy
(D) Rubber spring suspension system
gauir el Fevlusiagper anoli

(E) Answer not known
elen GigMwefdana
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50. What type of shock absorbers used in Two Wheeler?
@ a5T uTsasEld LWaTURSSLILIGD apTs SLFTTLT cTEmaT cUans ?
(A) Van type shock absorber
Couen euens eumé SLIFmrUT
(B) Piston type shock absorber
GGG GUENS QT SLIFTTUIT
(C) Mechanical type shock absorber
Qussraflsasd euans auTd: HLIETTLIT
Telescopic type shock absorber
QraaGsmitls cums agnd SLFTIU

(E) Answer not known
eflenL Gzflweldena

51. Wheel cylinder made by - |
aich SlallawrLit aTpg 2 Cansdggmea G&uuuu@aﬂﬂ)g}?

(A) Brass (B) Silver

g sener Qeuaraf]

- Cast iron (D) Bronze
sumTLIL @) (mby Qeuasse

(E) Answer not known
clenL Gz flualdena

52. Mechanical brake (Hand brake) operated by
Qussrafsse VGTE (s WGTS) @usEaug ergl?

O Hand "~ (B) Foot
=t &T6L
(C) Automatic (D) None of the above
R T €I A T TR . aTgieyb @

(E) Answer not known
alen Qafluelcrency

23 437-Mechanic Motor Vehicle
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53. In hydraulic brake system Tandem master cylinder operated by
ean’ rrelld 19Grs fevgHled Lewrb wrevLi Hellamemy @wd@eug

‘y Single pedal (B) Double pedal
@ Quied Elgam(h GuLe
(C) Three pedal (D) All of the above
epemm QU CuoGe 2 drer jenansgb

(E) Answer not known
eflen Qs flwieiidena

54. In hydraulic brake system brakes the pedal force is transmitted to

the brake shoe by means
@anlyreds  19CGrs  fevL gl 19CGrs GQuLeew WsHLGLNE  arser
2 gaflwrad 9CTs af SssLILBHEDI.

W Hydraulic oil (brake fluid)
aab greils < uid
(B) Seed oil

cllengaeT ppeld 2 HuSH eTEmenewT
(C) Treeoil
rasefle Gmba 2DuSH D GD 6TeiTenamT

(D) All of the above
Cupadlu Deansgib

(E) -Answer not known
dflen_ Gzflwallevensy
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55. Generally which type of disc brake American car used?
Qunrgieurs oThS euens g6vs UGTsE Bdwhlssen srfléd LuaTLhSsUILH S DS ?

56.

o7.

(‘Py Caliper type

STOUUT enLL

(C) Power brake
ueum BIGHS

(E) Answer not known
cllenL Ggilweildene

(B) Mechanical brake
Quésralsad 19CTs

(D) None of the all above

CuGe 2_dter ergyeytb @evena

Which part of use the Brake shoe adjustment in air brake system?

vweuE D ?
(A) Brake valve
9Gré eumévey

Slack adjuster
Aaors oy L goaioLit

(E) Answer not known
eflenL. Ggflweiwene

‘it AGrs Hevgdld, 9CTE efh-al U Gmav QeusughE ehg UNED

(B) Unloader valve

SimGer_it eurdey

(D) Pressure release valve -
Gpeir Refev sumebey

Which part of tyre referred as ‘crown’?
Lwit-6) erhg unsb ‘Sgeyen arar @O LG Eng 2

(A) Thread width

ST H&FeLD

Tyre width

LWIT &euLD

(E) Answer not known
alenL Qgflweidens

25

(B) Rim width

A &b

(D) Thread radius
ST WD
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58. What is the possible tyre wear due to improper toe-in?
weopwHm CLr-@er srrambrs ghuBin Lwi CoUTand eremet?

(A) Center wear
aww UGS Cslibmard

{(C) Shoulder wear

GamoLir-é0 Gguiomrerd

(E) Answer not known
aflen GsMweldena

(B¥ One side wear
@@ UssD GauibreTd

(D) Abnormal wear
DETSTremOTer GHuInremDd

59. A vehicle front wheel centre place and back wheel centre place

between placed is called?

R ursasHen paTuss i ewwsHDGL Geauss efd ewwidbEbd

LUl L GITD GTeet?

( Wheel base

(C) Front over hang
SLATERTL eulr anral

(E) Answer not known
efen Gsflureldene

| (B) Wheel track

aied 1976

(D) Rear over hang
Cué Qe anm

60. In a tyre rapid wear of shoulder what reason?
erean anyemslermed Lwid GCapmdLt sifswnnrs Gsuinrand ghu@dpng ?

( Low air pressure
GHDDUTR STHDI (PSS

(C) High air pressure
2fls sIHY WSS

(E) Answer not known
elenL QgMweldane
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(B) Medium air pI:essure
BOSST STHH SI(PSSD

(D) Very high air pressure
10l s sTHH SI(PSSLD



61. Which type of wheels used for medium vehicle and cars?
QuepbuTLrer @@ 76 eursaib WHNL srisald LLSTURESILHDL S

62."

eTehoy ?

(A) Wire wheel
i e

(C) Split wheel
auladlr eSev

(E) Answer not known

elenL. Ggflweidana

G Disc wheel

q6vé e

(D) Heavy vehicle wheel
Qanell Qaughlad oS

The tread will wear for under Inflated tyres on

GSDDES STHMPSSID 2 6Tem LWl L' L e

(A)

(©

(E)

at the centre
WGl

heel and toe
& whpw Gun

Answer not known
silent_ Waflwelldensy
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Cswb.

at the edges
eflefioy LGSlser

(D) feathery type
QuQs euens
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63.

64.

65.

What is the purpose of spokes provided in the wheel?

ai-d evGurde BeWSEHULIHLUUSE GCHTESWD eTeem ?
W Provide accurate rounds of rim
fb-& sNurer eu’ L auyeugans gHubBsSHADS

(B) Distribute pre load evenly
Gf Car@m-1 @Cr wrdflwure udidpg

(C) Provide directional stability of vehicles
arsaisSnE Heos avdly sarovaw CsThsSHng

(D) Support the chassis frame of vehicle
aunsarglen Gealled 19CHb-M@g sLCumi’ s GwsSna

(E) Answer not known
eflen. Qzfweldwens

‘Heavy duty preséed type rims which vehicle used?

Qanel Gy Wgev@m el flib g eumrsangdd Lwdu@ssLULRS DS ?

@&/ Trucks (B) Cars
o7& &M

{C) Motor cycle . - (D) Auto
Gt engsdler UG

(E) Answer not known
eflenL Gzfweildama

In an alternator the magnetic field is produced in the
oL rGarlLfle snbs efleerey o (heuneug @sehd

Rotor (B) Stator

Grrlmy e L
(C) Slip ring (D) Regulator

avedlcs M ' QuaGeoL Lt

(E) Answer not known
allen. Gsflweidana
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66. The Angle between centre line of King pin and a vertical line is

67.

68.

called

A der eowws Carlgn@bd seoqubd@mbs eaayuliubn CemEsss

Gamlgh@gnd Qe Gu 2 _GTem
DI P&ESIUIHEDG.
(A) Camber angle

Cabuir gy rider

(C) Toeout angle on turns

CLr Sayl. gyrdler g GLirer
(E) Answer not known

cllenL Qghweilcena

GamenrLd eTeuT

(B) Caster angle

CaevLim <y midler

King pin inclination-
A Qe GendlefConsan

An under-inflated tyre wear out more ?

G&oPHs sTHDWsSs Lwfld GCaiinrerd

(A) near centre
@U@ SiGHD

(C) in internal direction
o I yp Hensulled

(E) Answer not known
cllenL Qgflweilcoency

@ penLCupdlng ?

(B) in cross section
- GREG daulh-&

@Y near edge

eflafibL] Simald

Which type of gear converts rotary motion in to linear motion and

vice versa?

THs euens Hwi FPd @ussses BaeursE @ussh LHMID THTOIDIE

Wmhoilpg ?
(A) Helical gear
Cenadlsae Swr

(C) Spur gear

eour Slwirr

(E) Answer not known
fen @sMweilcvena

29

Rack and pinion
Cré whond Weflwic

(D) Bevel gear

Queud Hwrr
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69. Two piece of Disc mostly used for which vehicle?

@ rei(h LT&BIGETTS NS & g LI g6V b cunsanssled
LweTuEsuBEng! 2
Scooter (B) Cycle
Gugn LT nFsSler
(C) Bus (D) Car
Ligiv &
(E) Answer not known

sller AsRwcldrena

70. What is the disadvantage of excessive positive camber in the wheel
alignment?
ey sieeen@war -é urflyeu Gabur fswramed ghubb elevare)ser
oTeGHTeoT ?

M Tyre outer edge will wear out fast

(B)
©
(D)

®)

Lwi-ar Geuefl eflafliby eflenreuns Gguiwmeand jepLub

Tyre center will wear out
Lwir-68r enwiu@GAuliao Cauwmeand et ujb

Tyre bleeding wire wear out
Lwi-air g uit GHuinramd anL b

Tyre thread wear out
LwiT-6r Sl CHULTRTD Bieni_tlb

Answer not known
aflenL GgRwedcvened _
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71. What does ‘BLDCM’ mean in DC motor?
DC GumLrfé» ‘BLDCM wigsn eremen

Brush less DC motor (B) Brush length DC motor

ey Geey DC Gumim Gyeiy Berp DC Guom i
(C) Bend less DC motor (D) Belt length DC motor

cueneneumm DC Guom L mit Quer fard DC Gumcmi

(E) Answer not known
clenL Qgflwedldeney

72. Brief of “HFCEV”
HFCEV -an elfleunésid ereme.

(‘Ay Hydrogen fuel cell electric vehicle
emant gmet ol Qg Wensry eurged

(B) High front cover electric vehicle
2\ H& (e seauit LGS euTEHeLD
(C) Hydrogen flex cell electric vehicle
anamL_reer Gpslipey Gad Wensmy sursaib
(D) High fuel cell electronic vehicle
<fls LGyud Gad Werargm eursearid

(E) Answer not known
- eflen Qgflwefcrena

31 437-Mechanic Motor Vehicle
[Turn over



73. If thin cable are used for starter motor. What happen
Qualpgs euisdr aLm i Guoriimy Sl gdled vwaTuRSSeTTd ererer
BB
( Cable will get heated up

GsWer @uitsedr Hiflawrar Geutiub ghuBbd
(B) Supply more current

sy iflswns QFdgib
(C) Supply lesser current

syeTC_ () Geneuns Gedgib
(D) Voltage drops

Caureb.GLgy Ly ghupid

(E) Answer not known
eflen. Qg flweiideane

74.  Which is the one Battery Electric Vehicle charging?
Wewgny eunrsansdler CulLM sy Qaviuyb apenp 6rg?
(A) Internal plugin
2 67 Camm
(B) No plugin
QAammd @
. (C) External plugin and fuel tank
Qeuafluyp Qermd wHpib eN@un@redr Ggm iy

d Only external plugin
Qauafliiym Qemmd

(E) Answer not known
dlen Qsflweldena
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75. What is the full form of EV?

EV e sfleunéasd ereren?

(A) Energy voltage mlectric vehicles
< Hped Wleman(psHHh WO STEN] 6U TSGR SET

(C) Electric voltage (D) Energy vehicles
WBlesamy Wlemem(pssLd <4OMED UTHETALEET

(E) Answer not known
ellenL Qaflueidens

76.  Which vehicle has an electric motor and an IC Engine?
ahs eursansded Berery Gumiimt whpb 1C Geanger e drarg 2

(A) Only HEV @rHEV, PHEV and FCEV
HEV wr §Cuw HEV, PHEV wpyo FCEV
(C) HEV, PHEV : (D) PHEV, FCEV
HEV wpmyuw PHEV PHEV wpmi FCEV

(E) Answer not known
eilenL Qaflweidens
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77. Which is FCEV energy is converted in to energy
FCEV e <pped eremer @phmens wrhoriu@eug erg?
(A) Electrical to Chemical
BlererrsHedlmpbg Qrreweanssng
(B) Electrical to Mechanical
WlerenysHledimbg @wbdlrefwucd
d Chemical to Electrical
@reruengAadmbg Weraflud
(D) Chemical to Mechanical .
GrenuarsSaGpg QubSredued

(E) Answer not known
eflen Qg flueiidens

78. Expansion of FCEV for Electric vehicle types.
aras s ansagder aumsude FCEV aeugen elfleundsin
(A) Fuel combustion electric vehicle
S sbuger aasl e Qeudlsdler
M 'TFuel cell electric vehicle
S Qad aest Mé Qeudlsder
(C) Fusion cell electric vehicle
Suyevaat Qad el s Qeudlssldr
(D) Feed cell electric vehicle
U6 Qe erevs_Ms Qeudsder

(E) Answer not khown
eflen_ Ggflwialicena
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79. Which Electric vehicle does not exist CO2 Emission?
o Wensry eurgand COz 2 Blperey Qeuafludng; 2

(A) BEV (B) HEV
9.8).68 ané.@).af
FCEV (D) PHEV
a1 8.8).of 9.ané.§).of

(E) Answer not known
eflen Qgflweildena

. 80. Which compressor is used in electric vehicle air conditioning
system?
sl MN& aunsen ¢t samgset HavLGHlar LWETUEID SDUTFT 6rg ?
(A) Low voltage electric compressor

GoDhHE WSeananpss aasfé sburFT
(B) Motor driven compressor

Gurl ot g feuer sbupst
(C) Belt driven compressor

Quél gfleuem swursT

High voltage electric inverter compressor

218 Wenanpss erawsl fé @enQeui i sbupst

(E) Answer not known
Mer QgMweildbana
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81. How much efficiency for Electric vehicle battery. Compare to 1C

engine vehicle battery?
o a1 orfl argpdlen euairy CuULAyLer ul@n CGurg cwsl s eursarsder
Gui L Mulelr Slmer

A)  60% & 80%
©  100% (D) 75%

(E) Answer not known
afer Gzflweilvenay

82. What are the two basic types of controllers?
e Grraflen @y SilglILIenL GUENSHET CTETEH ?

(A) Mechanical and chemical unit
Qussaflssd wHmnb Csbdlésd el

(B) Mechanical and electrical units
Quésalssd LHmIb sl Nsaa0 el

M Electronics and electro mechanical unit
sl yrafdev whpb aasl Crr Cbsarallssd yefll

(D). Electronics and computer units
aoslraisev wHmb SOl LT wefl e

(E) Answer not known
dflen Qsflefoane
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83. What 1s the function of over running clutch in the starting system?
GOLMTlg i SlavLGFlev epeurt eesiit SlaT &-or Goueney eremen ?

84.

Qy Protect armature from damage

(B)

©

D)

(E)

2 TE&EST CagoeamLcuded(mhg UNGIETEHSHD

Operate the solenoid
Qerellermu® - @usEs0

Drive the armature shaft

I TRLEGET ST -85 QUGS D

Prevent sliding movement of pinion
Geflwan-er ppey Pusssos sEs0

Answer not known
eflen Qg fweildena

What is the function of diodes?
LCwnhsafler Gouane ereimest?

@/ Convert AC to DC

(B)

(€)

D)

(E)

AC-5 DC-2y5 wrpmdns

Step up voltage
CaureGLgy-g iflatiu@ssdng

Convert DC to AC
DC-g AC <5 wrppdlpng

Step down voltage
CaurebGLgh-g5 GHon&Sng

Answer not known

e Az flweldana
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85. Which device have the ability to store electrical charge?
Gyrﬂésassb gmirgy- Calls@ Hper CararL Frsard eg) ?

Capacitor (B) Resistor

Qariurdlm Qe
(C) Insulator (D) Conductor

@eraGal L i SetTL_GLiT

- (E) Answer not known
eflen Gsflweldena

86. A motor converts Electrical Energy in to —7?
et @Hmenc eph GumLjreng rHmeg
(A) Potential Energy (B) Magnetic Energy
Hlerew <y Hmens &G 4 HDears
(G Chemical Energy ' Mechanical Energy
Geugdl g pmevns Qupsly YwHpeons

(E) Answer not known
ellenL_ AgRweldena

87. Unit of measurement of resistance in electrical circuit
Blesr &Hdler ersanL. siatelihieugnsTean D@

(A) volt (B) ampere
Geumevl, _ b Sy

\(yf ohm (D) mm
@ TN

(E) Answer not known
clenL Ggflwaldvane
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88.

89.

What is the function of solenoid switch?
Qamedlermi &6l fer Geuaney eraies ?

(A) Open and close the circuit between primary and secondary
Wengwfl wHmb QesamLifl Fisu’ e apLeyb Snssayb Aewgsd

(B) Step down voltage from primary to secondary winding
Yergofl  eveuartigrifleSi(mbg Gesamf  eeuamgidhE CourdQigh
GG Leyer Qelige | _
y Close the contact between battery and starting motor
Guit M whmpib evmiCigr Gom_Lrr @ent Gu Ggm_irenu @enamsge
(D) Shift the lever to engage the plunger
Detkigeany Qasriyu@ss Seueny S’ Qsliged

(E) Answer not known
eflen Qg flweiidena

What Gas is filled in safety air bag balloons?
urgisrulpsrer g Gus ugraflledn Fruulul g mEEWL UL 6TeiTeT?

(A) Oxygen (B) Sodium
< denlnen Gamguinbd

M Nitrogen ' (D) Hydrogen
G 1B L ER6HT GQUD L (TEREHT

(E) Answer not known
eflenL Gzflwiefdana

39 437-Mechanic Motor Vehicle
[Turn over



90. Which conductor is used in underground cables?
6@ Sguid Ceagibd Caldarseals abs L8 2 LCUTSLLRSSLLG DS ?

(A) Tin (B) Copper
Qeugrafid SMOTb

g Lead (D) Farad
s AT

(E) Answer not known
eflenL Qafweldana

91. Ohms Law formula
g afFuldlen eumiinr(

I
V=IR B) R=—
4 ® R-g
I

V=IR . R== .
\%
R I
C) I=— D) P==
(© v (D) P=o
\% R

(E) Answer not known
eflenL Qzflweidana

92. The output of an alternator is controlled by
oL FGar L fen eyl sLBHuubdgeus @searmed

(A) Slip ring- : WRegulator
avedlt) M QA Gal it

(C) Rotor (D) Stator
Gomimy ' ’ e

(E) Answer not known
' sllen Gghlweldvane
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93.

94.

95.

The most accurate timer for Electronic ignition system is the
sl gralls Gaaflsar favsdlé He giwallwwrear Crrsams QarBiing

(A) Pulse generator (B) Transister
SlILeen GearGriir g el et

(C) Diode ' Hall effect switch
L Cur@ Qe eTusl Felll&

(E) Answer not known
eflenL Qg flwalicrena

Engine starter motoring
cremedlen eoLmiLff GrlL T ahg euens?

(A) Single phase AC motor M DC series motor
Suger Guev ordl ComlLmi & AfNwed Guom i
(C) DC shunt motor . (D) DC compound motor
’ g8 — emehr B Cumc iy ) g f — smbue T Guomi L mir

(E) Answer not known
eflenr. GgfNwaldame

Specific resistance of copper is
sruui 2 Canrsgdlen @liuLissl erere?

(A) 164 uQcm (B) 9.8 4uQ cm
1.64 UL Qs . 9.8 £ Qad
1.72 uQ cm (D) 7.8 £Q cm
1.72 1 Q&f 7.8 4Q Qsb

(E) Answer not khown
e QAsfwaldena
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96. Foam type fire extinguisher used for which class fire
BT SLm@TiLTET 6hg cuens H-emw Sienemds LwLaTLHEDS

(A) A -Class
A - auens

(C) D-Class
D - cuans

(E) Answer not known
eflen Qgflefcrana

y B — Class

B- aws
(D) E —Class
E - cuens

97. In which part to control the unburned gas in vehicle before exhaust? -
aunsaisHed erflssiiuing aurysseaer QeueflCubmid aer sLHUUESSID

LGS 1512
y Catalytic convertor
Cal Ll 196 ser@euri_ i
(C) Muffler
WLIEmT

(E) Answer not known
aflenL Qsfluefcdensy

(B) Exhaust valve
QeualGupmib eumedey

(D) Exhaust pipe
QeuefllGupmbd @Gprw

98. Generally in workshop the following equipments are used
Qurgieurs Qsmiherenauied Geeumid 2 LGFamEseT LaTURSSLLHETme

(A) Fork lifter

SOumid Sl

(C) Small crane
SAdlw KRG

(E) Answer not known
alen QgMwefdene
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(B) Trolly
1.57760l

(DY All of these
@ eneu SenaTSHILD



99. How to avoid dust and metal particles from various parts and
equipments of vehicle
angamtgeiiar LOCaup LTERGET LHMD 2 LsTamEsald Qmbs umb G
OHMI FEHETHeT eTeucumm SedlTLLIF

(A) Avoid vehicle’s
GUTHETBIGENET F6lTHH6

(B) Maintain the distance _
' Gurdlw Qe Qeuatienws senL 1914 g6

d Periodical maintenance

sflwmen sme @ent_Geuafluiies srgarisaner ugTwilssd
(D) " Wear mask '

Waepy. Siamiiz

(E) Answer not known
el Ggflueidame

100. The ‘B’ class fire means
‘B’ auews § ererusen Qumnmermeng,

(A) Electric fire M 01l fire
- WBleramy & ‘ o gula §
(C) Wood fire (D) Coal fire

b § Hasah §

(E) Answer not known
clenL Ggflweldens
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101. Which equipment is to support under lifting vehicle before working

under the vehicle for safe work?

arsagdlen &b LEHle urgsruurs Geueme GFULD APETUTS UTESTSEMS
o wirgd suiCumil Gerhi&sLU@D FTSaDd T ?

‘(y Stand
oL e
(C) Lifting crane

lLtg il SGryet

(E) Answer not known
eflen Gsflwelcdena

(B) Slings chain

euedlis Gaufie

(D) Hydraulic jack
QLTS @

102, Which item is to be eliminated to prevent fire?
§ ureyaues sRLUSDHE eeundaner $sas CouartHib 2

C) COq

SMTUEHT enL. BpEen&(h

(E) Answer not known
eflenL Qgfiweldens

(B) Nitrogen
O [BLFER 60
(D) Argon

Sy TG (T 60T

103. Which type of the fire extinguisher un suitable for electric fire?
Blenany §-5@ 6165 euensd F-sienemriiime QUTSSOHDHS).

@) €O,
CO2

 Foam
meny

(E) Answer not known
aflenL @z fweildrana
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(B) CTC
CTC

(D) Dry Powder

2 Qf ULt



104. Which device is best for control toxic waste?
Béssgaantn emibs sl s QUUOSS obs srserd Vs sllurensns

BHEGW?

(A) Wire brush (B) Cotton waste
euir Yy sT_Lem Geusvl

(C) Air compressor Qf Vacuum cleaner
&I SWlgen it umgyd dleflar

| (E) Answer not known
- eflen Qaflweilcvena

105. In which year did First AID treatment begin
TS @D WsQIFell HflFens Qermduig

& 1823 (B) 1863

(C) 1900 | (D) 1923

‘ (E) Answer ndt known
cflenL AgMweildwene

106. What does the (Bxxxx) ‘B’ in the repalr mark (Scan tool letter code)
number stand for? -

duGasar @aller @dl erar (STLC) uwg M aanefieo (Bxxxx) ‘B’ ereugy
erang GMsEmg ?

(A) Indicates board ‘ Mndica;es body
Curren G N&EE DG umg-eow @HlsSng

(C) Indicates booster (D) Indicates bell
LeuLiT-g GDsSng Quévene @‘@é;élmgg

(E) Answer not known
cllenL Qzilweilcrensn
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107. Which modules controls the engine and vehicles performance in the

vehicle service Information System?
cursensdlen gieiev @erumniGager fevLgdler ahg wTF erengdelr wHMID
eaungangdlen euddpensn sC(HLubhssdng ?

(A) ECM @/ VCM
(C) PCM (D) BCM

(E) Answer not known
ellenL Qaflweldana

108. What is the function of “TCM’ as an Electronic Control Unit (ECU)?
crasLrrafls sean Grre welll (ECU) auanssailes TCM -er Geuanav eretren ?

(A) Control the power from the engine to the gear box
eremglaflell(mpbg S umsev cueny usueny sCRULHSHEDS

(B) Control power from the engine to the Axle joint »
arenglafladipba péfld mmullanl ey vy sl GUUESSSDS

g Control power from the engine to the wheel
arenglaflelpba eid eueny ey sl Hriubhssdng

(D) Control the power from the engine to the clutch
crergdafled(mpbg Ser & eueny Leuary HLELILHSHE DS

(E) Answer not known
edler. WgRweldena
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109. What 1s the extension of ‘PCM in vehicle service Information
System in terms of ECU? '

aursargdlan sielev GeuiCuoesen HavgHer ECU ecemssefls ‘PCM’
eraTug el ellfleunéaid eremes ?
(A) Power capacity modules
ueuir Qaumelliig wrEGed
(B) Power cell modules
ueum Gae e
(C): Power come control modules
LUt &b ser_Grmeé wred
d Power drain (;ontrol modules .

veuir igangullesr ser_Gomed e

(E) Answer not known
adlenL Qsfluefdana

110. In which website can you find the full details of vehicle registration
number. :
umsar USley TR MEUSH SN PP SHUDSMETLLD oThg @ enarTw
seTsHen ppad serHlwemb.

(A) Vehicle company (B) Vehicle information
(¢f' VAHAN RTO India (D) Vehicle Registration

(E) Answer not known
cflenL. GsMwaldena
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111.

What does (600132 CT2P78900) ‘78900’ stand for in the chassis

frame Axle given here? (INDICA CAR)
@i Qer@asuu @erer Gsev 9CGTL &fafld/ (600132 CT2P78900)
‘18900’ eréruig) erens GN&ADE. (@a@mgsn s
y Chassis No (B) Engine No
Cadlev ereir eTeadleiT 6T aRT
(C) Model No (D) Vehicle No
OML6) 6resr GUITSHENT GTesaT
(E) Answer not known
e Ggflwaeildana
112. Black border with triangle symbols on yellow back ground shapes
are
wepFdr Hlp Geruasdled spuy Bp LT @BLET Snigw (505;@&;rram GU1q.6
GOHlUpseilen Aemanhiser 2 amisgiolg. .
(A) Prohibition signs (B) Mandatory signs
s 2 S5T6 & Sleranhiser sL_Lanerd Flesahiger
Warning sign (D) Information signs
arasflsens &emenmiser BHEH6eUD FlememmhiseT
(E) Answer not known
e Gsflueidama
118. What is the validity for international driving license?
FreuGae U HnT 2 Mo QedauuguIm@h ST UL TemeT ?
(A) 2 years (B) 3 years
2 g a@rhHisar 3 L&TH&ET
d 1 year (D) 5 years
1 sy am(p 5 o ahHser

(E) Answer not known
eflenL Qgflweldana
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114, What form will the ‘Regulatory signs’ take?
2 5576 SenaiseT eThS eulgeuSED @ HEED.

( Circle (B) Square
Gul L 6uigelled F&IT allgelle
(C) Rectangle (D) Triangle
Qecueusid euigedied W&CaTemd euyedled

(E) Answer not known
aflenL Ggflusildvane

115. Why are two consecutive yellow lines on the road?
groooulledr Osrirfdlurer AQEsHSS Qv wepsar Csrhsdr agnans
auenqwuuL (Herarg) ?
(A) The vehicle stop and go
amsanbd Hinsd Gedaw GeugmHib
(B) Do not overtake the vehicle
aursaTd (phd Cada FnL mg

(C) The vehicle must overtake
autsand (Wwhd Cwe Geua(Hib
G Thinkofit as a wall
@R &eurns Hlenengg Camerer Geuar(hb

(E) Answer not known
efler_ Agfweldana

116. B.S.F. screw thread have the included angle of
© B.S.F. vayseflar Caravworens Qurgieuns

(A) 30° (B) 45°

({f 55° | | (D) 60°

(E) Answer not known
eflenL Qg flweildene

49 437-Mechanic Motor Vehicle
[Turn over



117. Which one of the following is used for permanent fastening?
Qerhssriu_(pereteupiied 61hs qatnrang HrbsT @emenmUUssTargm @D ?

(A) Key Rivet
g el
(C) Cottor (D) Screw
ST LT GV

(E) Answer not known
sflenL Qaflwalidrena

118. Complete vehicle without body is called as

UMlg @OOTE (PILPERDIITET GUTSHEID

e;rsur amgé;a;ﬂu@é]-m@.

(A) Frame (B) Unibody frame
GGrw wesfiumg 9CTLD

@/ Chassis (D) Conventional frame
Gaallav saitbleuciganesd NGy

(E) Answer not known
afen Qgflweildend

'119. The angle of L.S. thread v -s'haped) is
LS. vewplen (V-aigeub) Canerrioneig

(A) | 29°
(C) 50°

(E) Answer not known
cllenL Qzflueliereney

(B) 47%°

y 60°
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120. Name the tap wrench used in the restricted place
Apmésqurar @ kisafld LwaTLRSSILGL GLi Qresdlen G

(A) Box type tap wrench
uméev enL Gui Gyepé

y ‘T” handle tap wrench
T’ Canarged G Qgyé

(C) Solid type tap wrench

| STl LI (_Sl_u Qyepé ,

(D) Double ended adjustable tap wrench
LyeT erentGr yspevLLar GLiy Qg

(E) Answer not known
sllen GgMwalidena

121. How the drill chucks ai'e held on the méchine spindle?
gflaadlm  Guwadlar evllemgailey wfedy sdsev g GTHS UNESSTD

Qg saLubHng ?
M By arbor (B) By sockets
STOUTE Fn&L& - Femmed
(C) By sleeve | (D) By specizﬂ clamp
GuES e -SHemmed Spuy euens Slarmby epeold

(E) Answer not known
allenL Qsflwaeldena -
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122. What is the advantage of centre screw in die stock?
QeaTLT audean el L MSHle BaTenld eTeman ?
(A) To tighten the die
aLowu Gnss g és
‘(y To adjust the depth of cut
L THLUUSET BLSeE Sl el Glausu
(C) To adjust the dia of internal thread
aeﬁm«mﬂ) Al Lgamg il gevl Gl
(D) To adjust the dia of external thread
Qeueflwenpufien eul_LSens St gmev Qalw -

(E) Answer not known
ellenL_ Qgflweldena

123. What is the reason for fough holes in drilling?
gieemuiBid Curg Qery Qeryuurer (rough) uriy ghuLSE srFewD ererer ?
(A) Unequal point thinning

gblebeor (penar ieTe

(B) Drill point not in centre
gHed enear mwwHler @owrsg
(C) Clearance angle is incorrect

daflwrerey Canenrd Ffulevangg

w Drill cutting edges are not sharp
i Mevellenm Geul B (paner wpmdl G (mLLS

(E) Answer not known
aflenL Qgflweldana
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124. Which portion of the reamer is reduced in diameter below the

125.

126.

(B

fofler eaBs ugdurarg slgn algar Al gms AL Gopaus

cutting edge?
BrsEWw?
(A) Body
LIy
(C) Shank
Cegmi&

Answer not known
eflenL Qzflueicdensy

The other name of wings nut

efltuden Biligenm WHEDIEH QU ererear?

(A) Penning nut
© Quenefiri BL
(C) Symonds lock nut

MFLDETL_ GV TS HL

Answer not known
eflen @zMweiidana

(E)

What is the angle of ACME thread?

250 HATLen Camewtd 6reime ?

M 29° Degree

29° 4 Af Canemnd

(C) 55° Degree
55° g M Carerrd
(E) Answer not known

eflen Qgfweidene

53

@/Recess

(D) Bevel lead
Queuer 5K

(%wan nut

GGG BL_

(D) Lock nut

QNS ‘[51'_

(B) 45° Degree
45° 4 it Camemrd

(D) 60° Degree
60° &M Carawrd
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127. Which nut can be easily operated with thumb and finger?
g Blenl slent aflyed whHnib eflgerd aaflgns swhn/wpHEs apyujib?

(A) Capstan nut

CalrevLér L
X 4

(E) - Answer not known
eflenL. Ggflweldena

Wing nut
cflmks B

128. Another name of circular split die

(B) Dome nut
G B
(D) Lock nut

s B

sr@ai aodefl e ulener §euaimmih DIDPEHDITLD ?

(A) Half die
@D reLl enl_
- (C) Dienut

L. ;r;L'_

(E) Answer not known
ellen Qgflwuefdana

yButten die
L L6 enl_

(D) Adjustable screw plate die
SIL_gevLLIeT eu@am WGaT anL

-129. Which type of Calipers is easy fine adjustment?
g auens sradliuir enue L gmevwen Gelicug) &oULD?

(A) Firm Joint Caliper
Gl grullem’ smedliiuim

(C) 0Odd leg Caliper
ghop Geos srellium

(E) -Answer not known
eflenL. Qgflwaldena
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(B Spring Joint Caliper
av9fik mmuller sredldiurm

(D) Leg and point Caliper
Qe whmid umllet srelliiuir



130. What is the smallest reading of vernier caliper?
Qeurrafllui srelluflen @GapHESULEF eTa ereLg! erema ?

(A) Deviation (B) Tolerance
.o Guiaged L e Febreiv
Least count (D) Allowance
el Heyaml SiQeueen

(E) Answer not known .
eflenL Qgflweilcrency

131. Which hand tool used for circular cut in sheet metal work?
T ahs s smel (FL QoL @fs) CGuoliid e el eugelild Geul

vwetuGEDg

(A) Straight sinp (B¥ Bend sinp
ol Gyl eveflls Gluesrl_ evaflL)

(C) Combination plier - (D) Side cutting plier
ambICergen Aepemuit e[ sLign Geperwir

(E) Answer not known
eflen Gz Mweildrenan

132. Least count of steel rule is
Glee HE-6ll GHMDBSUL S BaT6y

(A) 0.1 mm _ (B) 0.05 mm

(C) 0.01 mm ‘(yO.5 mm

(E) Answer not known
eflen. Ggfweildency
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133. Which gauge used to check leakage of inlet manifold?

anGlel_ Guails.Gumeig e
LfGendléssuBEmns) ?

(A) Feeler gauge
sfer Cagh

(C) Pressure gauge
Qe Cag

(E) Answer not known
eflenL Qzflwaidensy

s&ley

THS Cagy pweU Hisd

(B) Emission gauge
erifiger Gagy

(IJ) Vacuum gauge
Uy Cagy

134. In a metric micrometer a complete revolution of thimble divisions

Quirfs ewsCrr BSULfe zerer Hbder gyelegafler em up FHder

are
SiETEUTETS)

(A). 1.00 mm
(C) 0.25 mm

(E) Answer not known
clenL. Agflweiideame

(B) 0.01 mm

.gﬂ 0.50 mm

135. Which part of universal surface gauge holds the scriber?
wesleuiGad #rGucv Gagdler sudlenglneny erpg unsb g sgs Carer@ererg

Snug

cuesd

Y

(C) Rocker Arm

IU&&T BYIMD

(E} Answer not known
cllent. Qs flwelldvana
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(B) Guide pin
ana(h Ylesr

(D) Fine adjustment screw
- eueT 2 Gmevber euEamp



136. Which type of vice used for holding hollow cylindrical jobs?
2 dratpp 2 (mevemwimer Aunpener 191468 6Thg euansd eeuay LWaTLREDS ?

(A) Pinvice ,SP( Pipe vice
Qe eneus LI GGG

(C) Hand vice (D) Bench vice
Gapem. epeuev - QuEps eneuav

(E) Answer not known .
aflen Qgfweildena

137. Which part of universal surface gauge is used to set scriber at

' required position exactly? ' ’
wefeuigd FiGuev Cagler dvflenyueny sfluner flaneuder fnsgieughe ahs
ursh uwerL{HEmg) ?

(A) Snug (B) Guide Pin
T evend ' ) - ang(p e
(C) Rocker Arm (I} Fine adjustment screw
1e:3:3 -1 ) e St gmevl GueRTC. u@e

(E) Answer not known
cllenL. Gsflueicdena

138. Which part of vernier micrometer is marked with vernier scale

graduation?
Qeureflwr  ew&Crr - B fled Ceaureflut oerey abs  urssda
GNEELUL g (H&EGD ?
(A) Anvil (B) Frame
pairaifled , 9Grb
(C) Thimble Barrel
A Ger Cuéd

(E) Answer not known
allenL Qgflweilency
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139. Which gauge is used to compare the profile of thread?
wenr/HTliger eugalablienu sren ohg Gag LwaTuhssLUGSDS ?

(A) Plug gauge

Lend Gagy

(C) Radius gauge
Criquien Gagy

(E) Answer not known
cflenL Qzflweidens

(B) Feeler gauge
o°o|5161)r'r GS;%

y Screw pitch gauge

au@gen UL g Casy

140. What is the shape of interchangeable anvils used in screw thread

micrometer?

v A ewsCrm LM erhbs uiyeu pemelldadr Lweru@Slng ?

(A) Square shape
&g\ GUig LD
(C) Circular shape

QUL L @Jig.euLD

(E) Answer not known
ellenL Qg tlweldrenay

(Bf 'V’ shape

-(D) Parallel shaiae

@eeRTUNaT aUlgeuLD

141. What is the purpose of radiator in the cooling system?
gnodir flevL gl Crip Cwi Mer Lwie eremer ?

- (A) Cool the hot air
GLITET &TDenD et TellgHe

y Cool the hot water
. @Lnen samenteny @eallielgsd

(E) Answer not known
aflen Ggfluelidbana
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(B) Cool the hot oil
GLrar yullene GeaflTalsse

(D) Cool the water pump
GUTL_LIT ubenLt (gatliTell s



142.

143.

Dilution of lubricating oil is caused by

arufGar g i guilds B gearaw L ausnE STTETLD
(A) Water
Biv

(B) Solid contaminated like dust
HTCunerm HL &5

(y Fuel
arﬂ@un@m

(D) Worn of partical
fp gisar Gemad

(E) Answer not known
eflenL Ggfweilcwana

In water pump, when the impeller rotates, it draws water from the
radiator - '

eur_L it ublbe @embaer aswperm CrigCuiLfer & Pmhgl
bir-g Qusdng.
(A) Upper tank (B) Side tank
g Gl ' el G
( Lower tank (D) Expansion tank
Cums & sréevGueger GLrus

(E) Answer not known
sllenL Qgflweiceney
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144. Which method is used to transfer the heat Air Cooling System?
g (snpm) saddim FHevLsHed ehs Weanuld Geuliub s gsliubhidng.

(A) Radiation (B) Convection
gélreiss - Qeutiu geartb

M Conduction (D) Evaporation
QeuliLGasLSGD g ellum@se

{(E) Answer not known
clenL Ggflweidrana

145. Two types of oil filtering systems are used in automobile engines

there are
< GLrGlorenuir  @engdensafldy Lwetubd  @rew®  euamswmar  yulled
Gev_ifi flevLreng

y Full flow and bypass flow
) sser LGerm whmib evvinirey LGertm
(B) Open and closed

Sops wHpb gpuyw How
(C) Low pressure and high pressure

| GOPHS WSS WHYID SiFE D(WPSFD

(D) Full flow and flow through

soljam LIGarm whmibd LGerT &eme

(E) Answer not known
aflenL. Qs flwefdama
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146. Low engine oil pressure may be due to
Elenglen gulleller (PSSO GHDeuns BELILS @ sarmed

(A)
(B)
(©

o

(E)

Clogged o1l filter
udled Solbebfed ety

More oil 1in the sump
sbllé sflawrar gullene BlrliauiEssa

“Used in high viscosity oil

UM@Ssenenn HaEapeTer pullene LwWETUHSSS

Excessive back lash between o1l pump gears
< uiler Lb9eé fumsensdlan Gu Gus argy Fsbd BHSsH |

Answer not known
eflen Qgfweildana

147. The purpose of the farr in an engine cooling system is to -
@ emshlen gmedla flevL sl Cuaier Lwe ,

(A)
4
©

(D)

(E)

Increase flow of coolant
Seimenti/ snaamgen sphfenu sHstubHssdng

Draw air through the radiator
Crg Gui it aufwins srhenp @psdng

Cool the engine by blowing air over it
arhenn Deqsd @ensdlanan Gafliailsdlng

Provide drive to the water pump
ULt ey Quss QuTEBSSLILEE DS

Answer not known
afien Qgflweidena
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148. The principle of a radiator an engine cooling system is to
Qaen smedin v s siavwpgierer CrgGuiLflar Qsrarenswirang
(A) Act as a reservoir for the water
gementeny CallEGb saams Aeudu@eg)
(B) Cause a heat flow by convection
soamd srpewwns QeuliLs®ss SLSgieug
: ‘(¢ Spread out the hot water over a large area
- eifls urtuereild GLTar gty ahisss Aedog
(D) Increase the air Speed as it flows over the hot surface

- @Lren uguQer Bg Geuswner srpenn uLE Qauicug)

(E) Answer not known
e Qgfweideame

- 149. How many pumping element is a CRDI high pressure pump?
CRDI wan Gyeyi ub9é adseman ubln aawarhaer @) maELb ?

A 1 B) 2

@{ 3 (D) 4

(E) Answer not known
aflen AgRweidand

150. Where is located of low pressure feed pump in CRDI engines?
CRDI @mg‘lm & Ceor Qresit S5@ ubL <G| araCs @urr@g,g,uu@élg)gj?

(A) On the fuel filter . (B) On the fuel injection pump

. salSLLe lS]d)l__rﬂeiJ | sal9lyLed @@TQ&S&@T ubQed

y In the fuel tank (D) On the engine block
oty Crrmi-éd eremgdlem lemmé:-ed

(E) Answer not known
eflen_ Qg Mueidrene
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151.

152.

153.

Generally, the feed pumps in diesel engines are driven by
Gungieurs wed Qeardlarsalld oder LSh ubysd Qussd Gumeus
Gsen o

(A) Camshaft of engine y Camshalft of FIP
Blenglenn Cabagmiil FIP e Gawagmi

(C) Timing gears | (D) Crankshaft of engine
e Llk Swrger Gleglen Syris agmil

(E) Answer not known
eflen GgMwaidena

A drain plug in the fuel tank is provided?
Ssllupeid GLmidld gGyuier Sars siemwliug

(A) To fill the fuels (B) To collect the fuel sediment
- Sellyeud Blyiiyse ol flyLeied Qg Giamen &LlevE
(GF  To drain the fuels (D) To outlet the air
el eued ey S (Hige srheom QeuaflGuibmed

(E) Answer not known
cflen Qgflwefwena

How much pressure develop the CRDi diesel engine pump?
CRD1 eaengQen wedd Qgafls@d owssd eeaeasy Qrest 2 pHusd
Qewdpg ?

(A) 100 — 200 bar " (B) 200 — 600 bar
(C) 600 — 1000 bar G 1000 - 1600 ba

(E) - Answer not known
cflenL Qzflwelwens
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154. Which meter used for to measure the BHP?
BHP-g wianss eg S Li uwetuGépg ?

(A) Multi meter
wedly B

(C) Oscilloscope
Oscilloscope

(E) Answer not known

alent. Ggflwelidoens

155.

(BF Tacho meter
CLaBam B

(D) kWh - meter
kWh - S s

Which one of the folowing drives the fuel feed pump?-

GemeuheuameubmieT eThg eemm Liwpeud H Lbl B GusEdng 2

(A) Engine fly wheel
@engle Genenaich
* (C) Timing gear
L8 Huair
(E) Answer not known

sllenL Qgiweldana
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\(y F.I.P. camshaft
F.I.P. Caweron

(D) Engine ctankshaft

eremgplest Slpmriigmiie



156. What are the reason for pre-ignition in petrol engine?
Qui Crrer ereimafier Pre-ignition ghuL awedw sryeerd eremen?

(A) Carbon deposit in combustion chamber
ol Aepuiler smiuenr Lighg E)(mssea

(B) Improper timing
Seunrer eni Ll

(C) Improper air fuel mixture
seupran erilGlumpeT sevanal

d All of these

@y Benarggibd

(E) Answer not known
ellenL Qgflweildana

157. The most widely used engine type
Blseyd ureuns LWeTURSSUILHLD eTemmlen ciens

In line engine (B) V' type engine
@6 enevedr eTenadlehr V enLi erengain

(C) Radial type engine (D) Opposed type engine
Crigwed enLL1 eremgilemm ' uiGume® e erenshlesr

(E) Answer not known
- eflenL. Gsflwefcvena

158. What are the commonly used dwell angle for 4 cylinder engine?
4 fellarLir @englafler QL eTeudh ymifled eTeueuaTey?

M 48° —52° (B) 20° — 28°
(€)  30°— 40° D) 40° — 45°

(E) Answer not known
dlenL Gsfweildwens
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159. Which part of the piston is subjected to high pressure and

temperature?
Nev_eferr  ebg umsLTRE 2w AWSSSHDGL, Ceriu  HepagEGh
2 L LRSsULBEDG ?
(A) Skirt (B) Ring section
ST M Gladeue
(C) Land o/ Crown
Gaoahrl | Syeyen

(E) Answer not known
cflenL Gsflwelldrensy

160. A 4-stroke engine produces on power stroke in ?
@M preng oiFs Qargdeiids @@ Hpd &fs  assmear  sHmsEi
o (heundlmg ? :

Two revolutions of crank soft
flyriig auTligenr @ran® spmiseticd

(B) Four revolutions of crank soft
Syriis agumiiger BrerE sHmseflen

(C) Three revolutions of crank soft
' Slgmiig egmlig e eperny HHmisetlen

(D) One revolutions of crank soft
Syris ey e Gh SHmsetled

(E) Answer not known
cilenL GsMwaeldane
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161.

162.

163.

Which part of two stroke engine port open and close by
gran® o Grré arargdlen Cumil Gaaer (g, HPsssamyll LTED 657

(A) Crank shaft (B” Piston
flgrié agmol 19 Gl b

(C) Cam shaft (D) Valve
Gabd egmu aUTaY

(E) Answer not known
eflent- Qg flweildens

In the engine exhaust system, which one of the part is make the
special design for reduce sound and heat? ]

Qerglen erdevmel Slev_GHled eThg LNsWLTNTg FUSSMSWLD, CeuliLgengu|b
(GODEGHD euTTD SFMUILITE QUlgeUaNLDESLILIL Iy (H&EHLD.

(A) Manifold (B) Neck pipe
. Qwafl.Gumi @ ' ) Qp& oLty
Muffler (D) Tail pipe
Do s LIGITIT Quudeéd epuul

(E) Answer not known
eflanL Qg flwueiidana

Which type of clutch used in the two wheeler?
@ #6557 aunsanisafic aThs cuemswrer fer & LweaTLRSSLILHE DG ?

(A) Single plate clutch ' y Multi plate clutch
fAmdler QCer Sler & walg WCar SleTlé
(C) Dog clutch (D) Semi centrifugal clutch
' Lné et g - ' Qe Qe flaysed Herl s

(E) Answer not known
adlenL Qg flwelldbency
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164. The clutch linings used in clutch plate assembly has to withstand
Aerls WGarl @ewelllleds vweatuRssLLBL detl s emealin g

0 SAMBIGSEI 1. 1IG).
(A) high pressure

SIFs DAYSHD

(C) high force
<fl& cllens

(E) Answer not known
eflenL QgMweilcdena

(B) high temperature
2 Gertiuflene

9 high torque

285 Houndper

165. Which gear in the gear box is changed in direction in reverse speed?’
flur urdev-d odter ey Hwlemd Meuiev SHEE Hes wIHDOL

Gewwtinmdpg 2
(A) Lay shaft gear

Ga sl Swr

(C) Clutch shaft gear

Slerl & arul. Swr

(E) Answer not known
aften WgNweldane

(B) Main shaft gear

Quultesn sril. Swiir

Idle shaft gear

Diguied T Hwr

166. Which part of the torque converter allows the stator to rotate in one

Litg sen@eu Ll evGiimi-g @Gy flansuied spas Qeiiu siguwdsEn

direction?

ungL erg)?

(A) Turbine
L_ITen LG

(C) Fly wheel
Glener e

(E) Answer not known
den GsMwefNdena
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Impeller
@ubudei

(D) Over running clutch
@eulr genestim Herl&



167.

168.

169.

Constant velocity joint of which angle of movement?
srarevL el Geuerdliiy grilarl apg GCaram iarelled sHipddlng) ?

(A)  50°-60° (B) 70° — 80°
(f 80°-a3° (D) 45° — 55°

(E) Answer not known
dlenL GQsMwaldena

Which is the position transfer case operating lever used to power
take off ? ' |

et CL& peull LweTUBRSHDEUNpE lg JresTGLLIIT Gaen %uuem_tq_rm eSauir
abg Hleveuldr Glmss GCouamHib ? _

Sy Neutral
) [TURM, =

(B) High ratio, Four wheel drive

s CralGuin, preng oid Qusswd

(C) Low ratio, Four wheel drive
Gaphs CrAGwm, premE, aier Gu&sd

(D) High ratio, Two wheel drive
<fs CreiGur, Qrean® efd Guissd

(E) Answer not known
afen Ggflweidana

Type of gear used in differential is
g Uperadwed enwlilld apg cuans wi uweTuRE g ?

(A) Spur gear . . (B) Helical gear
@ouim Ewir Qandssd Hwr

J Bevel gear (D) Worm gear
Queue dwr eummb &wir

(E) Answer not known
aflenL G flweiidvena
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170. Approximately the clutch free play is
Gamymuwns ferc g LHuf WGer jeTeumang ?

A 3 (B) 4"

3” 4”
S D3
(E) Answer not known

e GgRueicvana

171. How does a turbo charger get drive?
T arhg pepuiled LitGur srigmi @uissluBEDg ?

(A) By belt (B) By gear
QuedL_ e it epaotd

(C) By inlet gas ‘(y By exhaust gas
2ardl@h&HD STHDHTE) - QauefICupmib sThHoTd

(E) Answer not known
eflenL Qgflwaldene
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172.

173:

Which sensor used to measure the magnitude of a magnetic field?
&Mhs Heddler ameneu jerell erps Qaensmt uweatuBhssuub S g ?

(A) Engine knocking sensor
@enghlein Hradln Ggerem
(By Hall effect sensor

anmred erlusl Qgemami

| (C) Voltage sensor

GeurGLspy Qaargmt

(D) Air vertex sensor

git CaurQLsev Qaerami

(E) Answer not known
Mev Qgfweidansa

Which electronic control system prevent stalling of engine, when
additional load are placed on the engine?

QardansE mpsors  Garhsst  Qsr@sGbGurgs  @epdler,  spHsl
RameilHouens eThs erevsgrais e Grme fevuLib sH&SHDE ?

‘(y Idle speed control system
C grywe eviif sar G feviib

(B) Fuel pump control system
S@ Lt sertGrmed Hevtb

(C) Ignition control system .
@ saflgen aan Crmed flevL b

(D) Fuel injection control system
Qyyed @enbmagan et Gymed Heviibd

(E) Answer not known
cflen Qsfluicicrency
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174. How much speed turbocharger by drive exhaust gases?
LaGur  erigh  eeueuaey Ceaussded QuiGHDg, THELTEL  LeswTd

@Qusstiubhi&ng ?
(A) 10,500 RPM B 2,80,000 RPM
(C) 12,000 RPM (D) 15,000 RPM

(E) Answer not known
eflenL Qgflwelerene

175. What is the materials of exhaust manifold?
agevrevl Guerll.Curdner 2 Cansh ereren?

(A) Brass (B) Bronze

NG5 enarT CeuamrsaLb
Ey Cast iron (D) Steel alloy
. eumitiSmby Gutedd eumul

(E) Answer not known
aflen GsMweicdana

176. Where is connected the accelerator pedal sensor?
- gsallaGrie it Guid Qgearevrileat s @)Ll o drang ?

(A) Variable resistance ‘(y Near accelerator
wrpuCL Wergean 9, 5e8leCrLLIT Dim&led

(C) Water Jacket ' (D) Near fly wheels -
QUITLLT BrsGa. Sillenerailéd oimAdD

(E) Answer not known
aflenL Asflweldena
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177. Throttle position sensor where fitted on engine?
drmi iy Qurflagen Qgemamt Qegdaflas eriig Qur@mSsLILLHeTarg ?

178.

179.

( Inlet manifold
@arGLé QualiGuré®

(C) Crank shaft
Sy agril
(E) Answer not known

el Gzfweiidana

(B) Exhaust manifold
ersevnev(h CuallGume @)

(D) Cam shaft

Cad agmin

Where is the Oz sensor installed in the CRDI engme"
CRDI ganglafler Oz Qeanent armiig; Siepinsstiul Herarg) ?

M Catlyte convertor
Gal el serbleul Lir

©

Common Rail
smoet Gruied

Answer not known
eflenL Qghlwaldana

(E)

(B) Inlet manifold
@enQel CuaiGume

(D) Cylinder Head
Acewr 1 Qe

Which sensor is used to alert the drive of unseen obstacles?
sremasaid Agflung gL samer yaaumeEE aFsfisdas delw aps Ceaent

vweruHSSLILHE DS ?
‘(y Parking sensor
Hoisgdl Qaergmi
(C) Speed sensor
Geus Q&@&nﬁ
(E) Answer not known

sllenL Ggflwelidrensy

73

(B) Pressure sensor
S(pss Qaangmi

(D) Torque sensor
g Clgersmit
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180. Where is fitted the lighting emitting diode sensor?
ool e gh e Curlh dbg Caarsmila Curmss i Hiereng ?

(A) Camshaft position sensor
Gaagmi. Qurdlger Qadram
(B) Engine temperature sensor
erepgdlen QUibLigssT Qgengmt
9 Crank shaft position sensor
&gri egrdl Qurdlger Qe
(D) Air flow sensor

et oeliGerm Qasmami

(E) Answer not known
ellenL Qzflweldena

181. How flow mode’ works in A/c system? ‘
g& Aav gl ‘Lmyb Hleney’ ereueunp GCeuanaw CFwidlpg) 2
Air is recirculated the cabin
Calafler 2 ater smhanpCuwr LHFPHE Qeuwtiu@Epg
(B) Outside air is absorbed
Qeueflanpy 2 MessriuGSpg

(C) Expels the air inside
2 a1Ger 2 _drer amhenp QeuallGCubmdng

(D) -Dispels heat
Qeutiugens QeusfCudHmIFng

(E) Answer not known
alen Qgflwaldena
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182. In water chemical formula
semeatilen ppedsmm euTiLium( e ?

(&) HO g’ 1.0
(G COo (D) CO:

(E) Answer not known
sllenL Qgflweildene

183. Air condition system compressor made by |
A/C Asvigded 2 édrer sburegh ahbs 2 Gonsssnd Qewiuriuc.L_eeu?

(A) Steel . - (B) Castiron -
Bmoy Uiy @midy
Aluminium alloy (D) Copper
2igllaiub e &by

(E) Answer not known
ellenL Qaiflwuelidbena

184. Receiver/Drier where fitted at Car air condition system?
M&auit/ g yui s giaemyeper Aol SHd e QurmssLLL Hererg ?
M Between condenser and evaporator
SERT_GTF(HE @G TeUTLILITL L (h&@GLD @am_ufﬂd)
(B) Between condenser and compressor
HETL_NEFHSGSD HUTFHEGD @eriuled
(C) Between evaporator and expression valve
GrauILIPI_L (&G GrébeUTegFa umieys@Gh e -ufled
(D) Between evaporator and compressor
reUrtILfLL_(H&H@GWD SLUTSFHEGD ZlenLuldeh

(E) Answer not known
‘ eflen Ggfwsehldvana
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185. What is the function of magnetic clutch in air conditioning system?
gt samgsafinn sewide Cuosergds SHearfluler Gawdur eremer ?

(A) Cool not refrigerant
g Geutiu @etlepLLed

(y Connect and disconnect drive to compressor
SDUTFHEE IqenJel-1 @amands WwHNnIb gy &s

(C) Absorbs moisture in the system
Sl Frougsas o Hl@ghadng

(D) Control the refrigerant flow to evaporator
eraumiuGrlLT-&@ umnyb Gafllal Lena sl Hliuhissding

(E) Answer not known
sllenL QzMlwailéane

186. Generally AC condenser fitted the A/C system.
Qurgleuns oS HeHTL TN g 6Thi@ QuTESSLILL (HeTarg ?

Front of the main radiator
Quwuller Crig Cuil L (m&@ peTuns

(B) Back side the main radiator
Quuler CrgCuil L (&@; Demurs

(C) Right side the main radiator
Quuller GrigCuit L (j&E euavgmLors

(D) - Left side the main radiator
Quulilewr Gy Cuil L (@, @LgLDLIS

(E) Answer not known
eflenL Qzflueiicdvend
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187. HVAC - The condenser is a
HVAC sen_ensi erétug gm

(A) Radiator (B) Heat transfer
CrigGua i abl g yreevLT
(C) Cool transfer y Heat exchanger

&) g TreTauLIT

abl erdevCagpat

(E) Answer not known
sllen @z Mlwelcrena

188, Blower moving sucted from the outside air. Which force the sender
the heater core?

WGarmwr @uidl GQeuefisarpean 2 MHErd Aesurs ab L i Gsmir
LEHES Sgiydng ?
m Centrifugal force (B) Newton force -
emww eflasE aleans . Byt ke elens
(C) Centripetal force (D) Suction force
eow Cprég allans 2 flgpa ellens

(E) Answer not known
aler GgMwelldena

189. The boiling temperature of in an automobile A/C refrigement is

approximately

< CLrGirenuid gitaanrigagaflgieter Qardblener GCamymuwnrs
(A) -10°C (B) —-20°C

N -30°C _ (D) —40°C

(E) Answer not known
aflenL Qgilweldane
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190. R134a Refrigerant called
R134a QrufQmer ereamib ienpssiilihifng

191.

B)

©)

)

(E)

Tetra Fluoro Ethane
Quigr SuyGerrGrr maGs et

Difluoro Dichloro Methane
e SUyGernGm e CerrCrm 545G el

Methyl Chloride

Bsansar @GCarreny(
Ethyl Chloride
rEged GGarmeny(h

Answer not known
allen QgRAwaelcans

What is the symptom if there is shortage of refrigerant in Car AC?

amir AC-& QruAgQren gopaugamed assaau ifigH Qeuaflitiu@in?

(A)
(B)
(D)

(E)

Worm suction tube
2 HlErad Gmid Bsbeuluw

Liquid blocked
dlreu ureng enLLiL

Bubbles appear in sight glass level indicator
el dlarmen Ceeud @eingCaslLfd GuWlflsdr Carermib

Cold discharge tube
@eflisflurersy qurned QeuefGuimn

Answer not known
cflen Qasflueidena
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192. Which device acts as an evaporator temperature sensing switch?

ahs Engerd ereurtinGrlLd
Qeweu@dng ?

w Thermostatic switch
QarCuwrevGL Ly s sl &
(C) Heater switch
abL LT &l &

(E) Answer not known
edlenL Qsflwefdena

Qastinfleney o emidper &l d - s

(B) Blower switch
yGermui sefll &

(D) Defroster switch
lesL|GrmevL T &6l &

193. Which part of air conditioning system absorbs moisture in the

system?

g sangsallt ewUkd abs LGH FruLgSang o Hgredng: ?

(A) Expansion valve
- arsevGuengen eurdey
(C) Condenser
GelL_egir

(E) Answer not known
e Gzflwaldens

(D) Evaporator

eraumInGrr_ L

194. Which component increase the refrigerant vapour from low pressure

to high pressure?

GPDHES SN(WP5S5EN(BHE 2P SiWwsssSDG Wrufgrean. Garliuir-g abs

ursh MAfsfssng 2

(A) Receiver
A& euir

(C) Condenser

SHETL_GHTET

(E) Answer not known
cflenL Qsflweldena
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(B) Evaporator

eraur Gl Lt

Compressor
SOUFET
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195. Normally the refrigerant is known as
Qrlufl@mer_rerg Qurgeirs FaL(panmuie 2 dTarg).

(A) R-3 (B) R-9

(C) R-6 y’ R-12

(E) Answer not known
efler @zflweiiwena

- 196. How héater works 1n A/c system? ,
g8l e sdd b i ereueummy Ceuane Qewidlpg ?

W Hot air is circulated-

Qeniuwren srhm #ié@Gal Qeiutu®@dpng
(B) Cold air is circulated

Gaflips sty Fi&EGaol Qeuwniu@dng
(C) " Oilis circulated’ '

Wl srsEgCGal. deuwunu@pg

(D) Water is circulated
sanetteny siéEGol Qawiu@dng

(E) Answer not known
aflerL. QgfMwefdwame
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197. AC components sight glass milky appearance what problems?

198.

a.8 unswrenr sl Heamev-er L Cumey CarHpd FHUL. STIRID e
Genpun(p ?

v Water is system

fevL_gHled samantii 2L Ly@&HSe

(B) Refrigerant very low
Gdrusidger bls gapey

(C) Complete absence of refrigerant
QrusfG@men apupeanowns @Gdoeng S msHsa

(D) Refrigerant very high
Qruflmen s siflsn

(E) Answer not known
elilenL Qgflweilchancy

The compressor compresses the refrigerant to a max pressure

at 100°C.
gbresfmhs <wssiu@n QrusfQgean -é1 2w ewssn 100°C
QFamg L CL1g. B (mEED.
(A) 8 kgflcm? ' (B) 10 kgf/cm?
@ 20 keficm? D) 15 kgflem?

(E) Answer not known
‘aflen Qgflwelidena
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199. A constant pressure is kept in the by this valve.
GOPHS ULF WHsHms sLGUUGSSED wasWd @@  Haowrer
2(WPSs5ms LGS eumwey LFTLNSSEDS.

(A) Evaporator valve w Expansion valve
ereumiILGrr LT eumedey GTEGLI MO Q6 GUTEIEY
(C) Compressor (D) Drier
SLOUTaSIT lg- eI

(E) Answer not known
afﬂas_)l_ Qafwaidena

200. Which of the gas change to liquid and gas in flowed of Air’ Condition

system?
abg euensd Gadv dreumorse|b emyeurse|b wrhl wrhl gf S gl
LweTURSSULREDS ?
" Refrigerant . ' (B) Oxygen
Quuifishlyair =& end] speit
(C) Hydrogen (D) Carbon monoxide
an@UDL_FEQ6HT amiuer Gurermgenan (H

(E) Answer not known
Men. GlsfMuwieleranes
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